
1. 다음 중 x4 − x2의 인수가 아닌 것은?

① x ② x − 1 ③ x + 1

④ x3 − x ⑤ x4



2. 다항식 f (x) = x3 − x2 − x + 1 을 인수분해하면?

① (x − 1)2(x + 1) ② (x + 1)2(x − 1)

③ (x − 1)(x + 1) ④ (x − 1)3

⑤ (x + 1)3



3. 다음 중 인수분해가 잘못된 것을 고르면?

① (x − y)2 − xy(y − x) = (x − y)(x − y + xy)

② 3a2 − 27b2 = 3(a + 3b)(a − 3b)

③ 64a3 − 125 = (4a + 5)(16a2 − 20a + 25)

④ (x2 − x) (x2 − x + 1) − 6 = (x2 − x + 3)(x + 1)(x − 2)

⑤ 2x2 − 5x + 3 = (x − 1)(2x − 3)



4. 사차식 x4 − 10x2y2 + 9y4의 인수가 아닌 것은?

① x − 3y ② x − 2y ③ x − y

④ x + y ⑤ x + 3y


